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When troubleshooting network connectivity issues, what does it mean if the IP address of a computer
starts with "169.254"?
Response:

A. The computer is using a static IP address.

B. The computer is connected to the network correctly.

C. The computer is not receiving an IP address from a DHCP server.
D. The computer has an internet connection issue.

Answer:

When a printer is producing faded or smeared printouts, what component should be checked first?
Response:

A. Printer driver
B. Paper tray

C. Network cable
D. Toner cartridge

Answer:

What does the "RTO" (Recovery Time Objective) represent in High Availability (HA)?
Response:

A. The maximum time a system can be down during a failure.

B. The amount of time it takes to detect a failure.

C. The time required to switch from primary to backup systems.
D. It minimizes resource contention and maximizes performance.

Answer:
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In VoIP media troubleshooting, what does the "R-factor" measure?
Response:

A. The quality of the network connection.

B. The performance of the VolP application.

C. The perceived quality of the media by users.
D. The impact of jitter on media quality.

Answer:

If a computer is experiencing random reboots and shutdowns, which of the following could be the most
likely cause?
Response:

A. Overheating

B. Insufficient RAM

C. Corrupted operating system
D. Incorrect BIOS settings

Answer:

A computer is not recognizing any USB devices when plugged in. What could be the potential cause?
Response:

A. The computer's BIOS needs an update.

B. The USB ports are disabled in the Device Manager.

C. The USB devices are incompatible with the computer.
D. The USB drivers are missing or corrupted.

Answer:
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A user reports that their computer is not connecting to the internet. What should be your initial
troubleshooting step?
Response:

A. Reinstall the network drivers.

B. Run a malware scan.

C. Check if other devices can connect to the internet.
D. Replace the network cable.

Answer:

What is the main advantage of an "active-passive" High Availability (HA) setup?
Response:

A. It provides load balancing across multiple servers.

B. It allows multiple active devices to handle traffic.

C. It reduces the hardware cost by using virtualization.

D. It minimizes resource contention and maximizes performance.

Answer:

Which type of redundancy allows multiple devices to share the same IP address and provide seamless
failover?

Response:

A. Virtualization
B. Active-passive
C. Active-active
D. Load balancing

Answer:

Which component ensures that data is mirrored and synchronized between active and standby systems?
Response:

A. Load balancer
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B. Cluster manager
C. Redundancy
D. Heartbeat monitor

Answer: B
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